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You are visiting a used book store, The cost of 12
mu‘tmhs&m The cost of 8
mmsmhsaaa Find the cost of each.
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5) JoAnn cashed her p!a?fc—h%k% went to the mall. She
has 17 coins in her pocket left. If the total value is $.61
and she only has pennies and nickels, how many of each
coin does she have?
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6) The sum of two nu7 and their difference is 9.
What are the two numbers?
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2MYy-26)-0  5(2x-22:19)
3+y+d =10 3(13x +52=-3)
|10 Ox -9z =90

.Eil + 29X+ € =q

A x-4a9

(Dax=4y+z=24

—4y+z=0 (D L"X'\' qﬂ +% 32"\‘
Sx—4y—5z=12
.g-' + @ -y }4tj+ z2=0

X +Dr =2t
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